mOy R>U>4 AIlr'TAC

TR>U—-X
OHEHEEE JL— MNeRgEEE 0 S ETER

ST E P6~D16 (E) (D)
A ¢
Wk 2.5 e
v W —~
an = S L& e e
’gi\\\\\\\\ 5 2 o e i -P2
©32 ST
} pid
MR ¥m';‘l 1:p4 4-P6 4-M5%:4.5
FNDZS = -M5zx:i4.
& H | o BL__ Dl /ma/ mm
€ 1oty i /
— 1.0
o ENm; ; “L* — ’4’%{’”
= el L
¥ 0.5 H BZZ hO—2-5~0 N1 | 2]
MTRL ]
o) o ot e e e A+ bO—2
= 20406080100 150 200 o6 o B C+ArO—% T
AO—-2 (mm) PS H E D M
Py ]
JL— hEiREMEEE QL &9
Q._.J -@—-—{}—-—61—-— w| x|
~0.1 LR 2-P1 &
Eoa f 1 I
[ ~] p—
=0.1 ‘ ;ﬂ'—J :
I 0.0 mamiEod L —k =
# s~ =
& 0.02 ﬁm(;%?%&ﬁéi N/ 2 s D D1
20 60 100150 200 X BERITS IO 2ro-2A B 10-25  30-50 60-8090~100 125 1501752005 E1F
A hO—%2 (mm) ENERERDFT, D=10+Z hO—-4/2
8 §8.513.545 (01 13ia o =7 |- - - |- |- |- |13|10|2588 [18|28/35 14
10 72 |17 |65|30 [40 50 |80 — = |- |- |20]20[36.H9 [20|35/44[16
16 79 |19 60,25 |35 45 |55 65 |75 |145[145[30]30 4659 |25|45(56 18
AE/EZSNT N2R S T V Pi P2 P3 P4 P5  P6
6 24.56.5/4.537 164 [Hifll: 06.5%3. 38 L 7%:3.4] - M3  0.5[M3x0.5 L5 M3 x 0.5M3x0.53%4.5
10 30 |8 |3.546|17|6 |4l o6 57338 L7t:3.4|M4x0.757| M4 x 0.7(M3x0.58 LT M5 x 0.8 M3x0.585
16 38 |8 |5 [68|20/8 |4ifil:08.0%4.4i L 7w:4.3|M5x0.8788| M5 x 0.8|M4x0. 7L 7T M6 x 1.0M4x0. 7585
20~®32 | () . (o T
il
L
g HE-—e———a——
= { H g A 2p2
]
gl
2-p4/
8-P6  4-P7
. /Al
b - — - —@-| 2|
&
AZEA RO—2|-5~0 N2
C+ArO—72 T
D M
i
&
L g D— T  uax f~<‘~~
¢
P
2-P4 2-P3/

D D1
10~25 30~50 60~100 125150175200 = F H | S
20 94 124/70(30 40 |60 80 |80 |100(100)30 |52 |12 |28 50 |62 |23 |46 |9 |6.5 |64
25 96 [24(72/30 |40 |60 80 [80 [100/100|30 61123560 7828439 |9 |80
32 112/30(82]40 |50 |70 90 |90 [110[110/30 |73 |14 |44 75 |96 |36 |53 |10 11.5/98
20 25710 |9.5[ W8 09.5%5.3i8 L7%:5.2M6x 1.OZEL0 | M5 x 0.8MAX0.75E6 | M8 x 1.25 Madx0. 77| M5 x 0.8
25 3012 |13 |80 116,37 L706.8 |M8x 1.25%12 M6 x 1.0M5x0.8557.5 M8 x 1.25 M5 x0.87E7| 1/8"
32 38|16 (20 |%M@:0113%6.38 L IT6.8 [MB8x1.25%12 M6 x 1.0|M5x0.83E8 |M10x 1.5/M5x0.8;%7|1/8"

A |65




